
independent SERVICE CENTRE

AIRCRAFT ENGINES

RTX

 

EP

AV

CS

IN

EL

AV

TO

PS

BV

32 1-800-247-9653  •  225 Airport Circle, Corona, CA Prices Subject to Change Without Notice

912 iSERIES ENGINE
INTAKE MANIFOLD, AIRBOX, THROTTLE 
BODY SOCKET
Item
No. Part No Description Qty.

Req. Price
1 667-400 INTAKE MANIFOLD 1/3 1 $452.60
2 667-405 INTAKE MANIFOLD 2/4 1 $452.60
3 850-091 ISOLATING FLANGE 2b 2b $6.53
4 440-207 HEX./TORX-FLANGE SCREW M6x20-SW8/T30 8 $0.90
5 460-420 CONNECTING SOCKET 2 $6.47
6 853-028 1-EAR-CLAMP 48.3-51.5 MM 4 $1.93
7 667-410 AIRBOX 1 $1,509.17
8 440-164 HEX. TORX-FLANGE SCREW M6x16 1 CALL
9 230-415 SEALING RING A 6x10 2 $1.40

10 840-670 HOSE NIPPLE M6 1 $9.19
11 860-700 RUBBER 20x10xM6 1 $23.11
12 827-968 WASHER 6.4 1 $0.35
13 842-044 LOCK NUT M6 1 $2.66
14 850-020 RUBBER RING 1 $3.43
15 685-055 THROTTLE BODY SOCKET ASSEMBLY 1 $399.00
16 953-020 SEPARATING PLATE 3 $1.78
17 440-147 HEX./TORX-FLANGE SCREW M6x12-SW8T30 3 $1.78
18 250-015 SEALING RING A12x18 2 $0.35
19 222-421 TEMPERATURE SENSOR 2 $33.15
20 664-364 PRESSURE SENSOR 2.0 2 $309.41
21 951-560 CONNECTOR BRACKET 1 $48.10
22 825-750 AIR FILTER (1a) $68.88
23 975-100 HEATSHIELD (1) $16.66
24 874-654 PRESSURE-/TEMP. SENSOR 1c $286.10
25 951-500 CLAMP 381x4.8 MM (1) $5.27
26 651-780 CONNECTOR BRACKET 1 CALL

- Items not illustrated
a   Air filter incl. hose clamp
b 	 Double flange
c 	 Ambient pressure and temperature

INTAKE MANIFOLD, AIRBOX, THROTTLE BODY 
SOCKET 912 iS SPORT
Item
No. Part No Description Qty.

Req. Price
1 667-401 INTAKE MANIFOLD 2/4 1 CALL
2 667-406 INTAKE MANIFOLD 2/4 1 CALL
3 850-091 ISOLATING FLANGE 2 $6.53
4 440-207 HEX./TORX-FLANGE SCREW M6x20-SW8/T30 8 $0.90
5 460-421 CONNECTING SOCKET 2 CALL
6 953-093 1-EAR-CLAMP 66.3-69.5 MM 4 CALL
7 667-411 AIRBOX 1 CALL
8 440-164 HEX. TORX-FLANGE SCREW M6x16 4 CALL
9 230-415 SEALING RING A 6x10 1d $1.40

10 840-672 HOSE NIPPLE M6 1d CALL
11 860-700 RUBBER 20x10xM6 1 $23.11
12 827-968 WASHER 6.4 1 $0.35
13 842-042 LOCK NUT M6 1 $2.66
14 850-020 RUBBER RING 1 $3.43
15 685-055 THROTTLE BODY SOCKET ASSEMBLY 1 $399.00
16 953-020 SEPARATING PLATE 3 $1.78
17 440-147 HEX./TORX-FLANGE SCREW M6x12-SW8T30 3 $1.78
18 250-015 SEALING RING A12x18 2 $0.35
19 222-423 TEMPERATURE SENSOR 2 $33.15
20 664-362 PRESSURE SENSOR 2.0 2 $309.41
21 951-562 CONNECTOR BRACKET 1 CALL
22 825-750 AIR FILTER (1b) $68.88
23 975-100 HEATSHIELD (1) $16.66
24 874-654 PRESSURE/TEMPERATURE SENSOR 1c $286.10
25 951-500 CLAMP 381x4.8 MM (1) $5.27
26 651-780 CONNECTOR BRACKET 1 CALL
27 638-140 CLAMP 2 CALL
28 440-000 FIXING SCREW ASSEMBLY 1a CALL

- Items not illustrated
a 	 Screw, nut and washers
b 	 Air filter including hose clamp
c 	 Ambient pressure and temperature
d 	 840-671 + 230-415 is replaced by 840-672

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/667-400.php
https://www.cps-parts.com/catalog/pnpages/667-405.php
https://www.cps-parts.com/catalog/pnpages/850-091.php
https://www.cps-parts.com/catalog/pnpages/440-207.php
https://www.cps-parts.com/catalog/pnpages/460-420.php
https://www.cps-parts.com/catalog/pnpages/853-028.php
https://www.cps-parts.com/catalog/pnpages/667-410.php
https://www.cps-parts.com/catalog/pnpages/440-164.php
https://www.cps-parts.com/catalog/pnpages/230-415.php
https://www.cps-parts.com/catalog/pnpages/840-670.php
https://www.cps-parts.com/catalog/pnpages/860-700.php
https://www.cps-parts.com/catalog/pnpages/827-968.php
https://www.cps-parts.com/catalog/pnpages/842-044.php
https://www.cps-parts.com/catalog/pnpages/850-020.php
https://www.cps-parts.com/catalog/pnpages/685-055.php
https://www.cps-parts.com/catalog/pnpages/953-020.php
https://www.cps-parts.com/catalog/pnpages/440-147.php
https://www.cps-parts.com/catalog/pnpages/250-015.php
https://www.cps-parts.com/catalog/pnpages/222-421.php
https://www.cps-parts.com/catalog/pnpages/664-364.php
https://www.cps-parts.com/catalog/pnpages/951-560.php
https://www.cps-parts.com/catalog/pnpages/825-750.php
https://www.cps-parts.com/catalog/pnpages/975-100.php
https://www.cps-parts.com/catalog/pnpages/874-654.php
https://www.cps-parts.com/catalog/pnpages/951-500.php
https://www.cps-parts.com/catalog/pnpages/651-780.php
https://www.cps-parts.com/catalog/pnpages/667-401.php
https://www.cps-parts.com/catalog/pnpages/667-406.php
https://www.cps-parts.com/catalog/pnpages/850-091.php
https://www.cps-parts.com/catalog/pnpages/440-207.php
https://www.cps-parts.com/catalog/pnpages/460-421.php
https://www.cps-parts.com/catalog/pnpages/953-093.php
https://www.cps-parts.com/catalog/pnpages/667-411.php
https://www.cps-parts.com/catalog/pnpages/440-164.php
https://www.cps-parts.com/catalog/pnpages/230-415.php
https://www.cps-parts.com/catalog/pnpages/840-672.php
https://www.cps-parts.com/catalog/pnpages/860-700.php
https://www.cps-parts.com/catalog/pnpages/827-968.php
https://www.cps-parts.com/catalog/pnpages/842-042.php
https://www.cps-parts.com/catalog/pnpages/850-020.php
https://www.cps-parts.com/catalog/pnpages/685-055.php
https://www.cps-parts.com/catalog/pnpages/953-020.php
https://www.cps-parts.com/catalog/pnpages/440-147.php
https://www.cps-parts.com/catalog/pnpages/250-015.php
https://www.cps-parts.com/catalog/pnpages/222-423.php
https://www.cps-parts.com/catalog/pnpages/664-362.php
https://www.cps-parts.com/catalog/pnpages/951-562.php
https://www.cps-parts.com/catalog/pnpages/825-750.php
https://www.cps-parts.com/catalog/pnpages/975-100.php
https://www.cps-parts.com/catalog/pnpages/874-654.php
https://www.cps-parts.com/catalog/pnpages/951-500.php
https://www.cps-parts.com/catalog/pnpages/651-780.php
https://www.cps-parts.com/catalog/pnpages/638-140.php
https://www.cps-parts.com/catalog/pnpages/440-000.php
https://www.cps-parts.com/catalog/pnpages/840-671.php
https://www.cps-parts.com/catalog/pnpages/230-415.php
https://www.cps-parts.com/catalog/pnpages/840-672.php
https://www.cps-parts.com/catalog/pnpages/250-015.php
https://www.cps-parts.com/catalog/pnpages/850-091.php
https://www.cps-parts.com/catalog/pnpages/667-410.php
https://www.cps-parts.com/catalog/pnpages/667-400.php
https://www.cps-parts.com/catalog/pnpages/850-020.php
https://www.cps-parts.com/catalog/pnpages/840-670.php
https://www.cps-parts.com/catalog/pnpages/440-164.php
https://www.cps-parts.com/catalog/pnpages/460-420.php
https://www.cps-parts.com/catalog/pnpages/853-028.php
https://www.cps-parts.com/catalog/pnpages/664-364.php
https://www.cps-parts.com/catalog/pnpages/664-364.php
https://www.cps-parts.com/catalog/pnpages/667-405.php
https://www.cps-parts.com/catalog/pnpages/853-028.php
https://www.cps-parts.com/catalog/pnpages/460-420.php
https://www.cps-parts.com/catalog/pnpages/230-415.php
https://www.cps-parts.com/catalog/pnpages/230-415.php
https://www.cps-parts.com/catalog/pnpages/440-147.php
https://www.cps-parts.com/catalog/pnpages/685-055.php
https://www.cps-parts.com/catalog/pnpages/827-968.php
https://www.cps-parts.com/catalog/pnpages/842-044.php
https://www.cps-parts.com/catalog/pnpages/840-670.php
https://www.cps-parts.com/catalog/pnpages/951-560.php
https://www.cps-parts.com/catalog/pnpages/250-015.php
https://www.cps-parts.com/catalog/pnpages/874-654.php
https://www.cps-parts.com/catalog/pnpages/951-500.php
https://www.cps-parts.com/catalog/pnpages/975-100.php
https://www.cps-parts.com/catalog/pnpages/825-750.php
https://www.cps-parts.com/catalog/pnpages/850-020.phphttp://
https://www.cps-parts.com/catalog/pnpages/440-207.php
https://www.cps-parts.com/catalog/pnpages/850-091.php
https://www.cps-parts.com/catalog/pnpages/664-362.php
https://www.cps-parts.com/catalog/pnpages/664-362.php
https://www.cps-parts.com/catalog/pnpages/222-423.php
https://www.cps-parts.com/catalog/pnpages/222-423.php
https://www.cps-parts.com/catalog/pnpages/440-147.php
https://www.cps-parts.com/catalog/pnpages/953-020.php
https://www.cps-parts.com/catalog/pnpages/850-091.php
https://www.cps-parts.com/catalog/pnpages/685-055.php
https://www.cps-parts.com/catalog/pnpages/827-968.php
https://www.cps-parts.com/catalog/pnpages/842-042.php
https://www.cps-parts.com/catalog/pnpages/860-700.php
https://www.cps-parts.com/catalog/pnpages/874-654.php
https://www.cps-parts.com/catalog/pnpages/951-500.php
https://www.cps-parts.com/catalog/pnpages/975-100.php
https://www.cps-parts.com/catalog/pnpages/825-750.php
https://www.cps-parts.com/catalog/pnpages/440-207.php
https://www.cps-parts.com/catalog/pnpages/850-091.php
https://www.cps-parts.com/catalog/pnpages/440-207.php
https://www.cps-parts.com/catalog/pnpages/953-020.php
https://www.cps-parts.com/catalog/pnpages/222-421.php
https://www.cps-parts.com/catalog/pnpages/222-421.php

